06 01 25

@
443,483 | 443,483 | o | o | 0 0
R2 R4 R7
R2 45.2% . RT 52.3%
45 48 52
R2 7.4 . RT 33.6%
17 25 33
R2 2.3 - R7 86.0%
72 79 86




R06 |R07 [R08 [RO9 [R10

A07-001 . 390
A07-002 . 3,520
RC V=3,500 3
A07-003 | | . | | | 473|
A07-004 m = 5,308
L=23,210m
A07-005 m = 229
A07-006 m = 468
A07-007 | . | . | | | 152|




R06 |R07 [R08 [RO9 [R10

A07-008 - 638

A07-009 - 821

A07-010 - 1,541
13.1

A07-011 L=1830m DIP GX ¢ 200 . 196
@ 400

A07-012 - 4,821

A07-013 - 3,310




R06 |R07 [R08 [RO9 [R10

A07-014 [ [ 7,662
A07-015 ®300,L 4 | | 427
13
A07-016 | u 986
A07-017 | u 10,121
A07-018 | u 1,172
A07-019 | u 4,090
km




R06 |R07 [R08 [RO9 [R10

A07-020 "= 672
A07-021 "= 503
A07-022 "= 681
A07-023 "= 987
A07-024 "= 428
A07-025 ] 261




R06 |R07 [R08 [RO9 [R10

A07-026 . 455
)
A07-027 PC . 867
6,900
A07-028 . 167
A07-029 . 33
A07-030 . 2,671
A07-031 . 1,566




R06 |R07 [R08 [RO9 [R10

A07-032 L I | 357
A07-033 L I | 700
A07-034 | I | 100
A07-035 ] 163
A07-036 ] 22,515
A07-037 Ne3PC " | = 833




R06 |R07 [R08 [RO9 [R10

A07-038 . 1,583
A07-039 . 1,770
40.0 3
1200 3
A07-040 . 800
A07-041 . 1,040
A07-042 - 1,076
5.1
A07-043 . | . | | | 3,476|




R06 |R07 [R08 [RO9 [R10

A07-044 40 "= 195
3.2

A07-045 2.5k " | = 181

A07-046 "= 986
31.1km

A07-047 20 " | = 2,529

17,040
A07-048 "= 25,618




R06 |R07 [R08 [RO9 [R10

A07-049 L I | 10,779
A07-050 | I | 292,501
A07-051 | I | 789
A07-052 | I | 1,972
A07-053 Nol 2 " | = 225
A07-054 ] 3,660




R06 |R07 [R08 [RO9 [R10
A07-055 . 7,276
A07-056 = | = 727
A07-057 a | = 9
A07-058 a | = 1,498
A07-059 a | = 1,134
A07-060 | . | . | | | 236|

10




R06 |R07 [R08 [RO9 [R10

A07-061 | . | . | | | 1,090|
A07-062 | . | . | | | 601|
A07-063 . 250
A07-064 | . | . | | | 960|
A07-065 m = 16
A07-066 | . | . | | | 4o|
A07-067 | | . | | | 25|
A07-068 | | . | | | 20|

11




R06 |R07 [R08 [RO9 [R10

A07-069

47

443,483|

443,483|

12




RO5 RO6
@ 4,298
() 0
(c=a+b) 4,298
(©)) 0
) 2,295
® 2,003
@ 1,970
(h = ctd-e-f) 0
(i = (gth)/(ctd)) 45.83

10




PPP/PFI

10




